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Seat No.: Enrolment
No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-V ¢ Examination — WINTER ¢ 2014

Subject Code: 3355804 Date: 04-12-2014
Subject Name: Costing and Estimating for Printing
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten. 14
1. Elaborate the word SPANKS.
2.  Define the term Prime Cost.
3. Write down need of Material Requisition Sleep.
4.  Define the term Depreciation.
5. Define the term Unit Cost.
6.  Write down causes of Depreciation.
7. Explain meaning of Profitability.
8.  Write down any two terms and condition of Invoice.
9. What is wastage allowance?
10. Why selling cost is more than other costs?
(@) Write down different factors which affected profitability of job. 03
OR
(@) Write down need of Work Instruction Ticket. 03
(b) Draw a Performa Invoice. 03
OR
(b) Differentiate between Time Rate and Work Rate system. 03
(c)  Write short note on: Variable cost. 04
OR
(c) Iftask is given to you that you have to reduce the cost. How you will do? 04
(d) Explain need of Shift Production Report. 04
OR
(d) “XYZ’ Press purchased a Baby Offset machine at cost of 320000/- and 04
Installation cost is 30000/-. Its useful life is 10 years and scrape value is
considered as 75000/- by using Straight line Method determine depreciate at
end of 5 years.
Q.3 (a) Write down Tools of Estimator. 03
OR
(@) Explain different needful parameter of Estimating software. 03
(b) What is Estimating? How it is useful for Printing Industry. 03
OR
(b) List down methods for finding depreciation? Explain any one. 03
(c) Find out weight of 10000 sheets of paper which size is 23x36 and 70GSM. 04
OR
(c) Write down points which you will consider during estimation of job. 04

(d) Find out the quantity of printing ink required for printing a job of half tone on 04
both side with art paper having size of 18 x 23 and quantity is 10000 using
process magenta inks through offset process. (Assume suitable data wherever

1/4



Q.4

Q.5

Ud. 1

YA R

(d)
(a)

(a)
(b)

(b)
(©)

(a)

(b)
()
(d)

& e v £ X W oo

o °

£

necessary)
OR
Write down advantages of Estimation software.

Write short note on: Liability

OR
If you gave quotation to the customer and your production cost increase than
estimated cost. How you resolved the problem?
Write down advantages of standard press routine.

OR
Differentiate between Actual Cost and Budget Expenses.
A job of ‘Alok Restaurant’ for printing of 10000 Leaflet copy in AS size both
side printing is to be printed by offset printing process using 60 GSM, Paper.
Prepare a statement for this job showing variable cost only. (Assume suitable
data wherever necessary)

A manuscript contains 96 pages of 22 lines to a page and 6 words to a line.
How many pages will it make in 12pt. type with 2 pt. leading in 22 x 38 ems
pica page?

Describe about Local Organization.

Write down advantages of Costing.

Explain importance of Quality control report.
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